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Answer the followins Ouestions (70 Marks)

Ouestion (71 !r

A and C are two points, the coordinates of point C = (33o 48' S,
bearing of line AC = S 50o 00' E- If the point A is located on
percentage of error if the area of ACP (P is a north polar of earth)
triangle, longitude of point (A) and the azimuth of line CA. (30.88
subtends 1"at its centerJ.

Ouestion (21 (10 Mark)
A and B are a part of free kiangulation network, their elevations are 86 m and 136 m,
respectively, and the distance between the two points equal 40 km. The intervening ground
may be assumed a level plane of elevation 59 m.If the government will begin in establishment
a new city between of these two points. Find the maximum number of floors of any building
in this city with height of every floor is 2.7, so that the line of sight from A to B will clear the
obtained building by not less than 4 m. Also, if a water tank will be constructed at point C
which is situated 25krn from the highest point of them (A or B). Find the maximum height of
this tank (R: 6388 km and k:0.08).

Arcrtion 6l
In the opposite sketch ABCDEFGHK:
a) Find the number of conditions using two different methods.
b) Write all condition equations.
c) If station F is not occupied, find the number of conditions using any method.

(15 Mark)

(10 Mark)
30o E), and the reduced
Equator line. Find the
is computed as a plane

m on the earth's surface
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